(@)

3.5

RMSE in kelvin

()

3.5

w

RMSE in kgm2s™
N
[6)]

N

1.5

(e)

RMSE in Wm™
N w (&) N N
(é)] o (&)] o (é)]

[\
o

15

Difference in surface temperature

———sp-dp
== dp — obs
sp — obs

|} |

AR
A IR

1985 1990 1995 2000 2005 2010
Year
%«107° Difference in precipitation

—— S — dp
e (P — ObS
sp—obs | 1

fuinn

i

1985 1990 1995 2000 2005 2010
Year

Difference in shortwave cloud radiation effect top of atmosphere

sp—dp

N s () — ODS
sp — obs

.
B
—
—
—
>

T T
—
P ——
[~
[ S—————

2001 2002 2003 2004 2005 2006 2007 2008 2009 2010 2011

Year

(b) Difference in temperature at 2m

4+ i
= sp—dp
== dp — obs

sp — obs
3.5 i

[
=
(O]
X
£
L
n
=
o
1 L L L L L L
1985 1990 1995 2000 2005 2010
Year
(d) . . .
- Difference in total surface cloud radiation effect
sp—dp
e (P — ObS
30 L sp—obs| |

N
(6]

RMSE in Wm™
)]
o

15
10
2000 2002 2004 2006 2008 2010
Year
U . .
Difference in longwave cloud radiation effect top of atmosphere
sp—dp
17 r s (I — ODS ]|
16 1 sp — obs ||
151 , ‘ \ \ | .
| /
[aV} | —
§ 14 \ ’ J \
13 H\ | -
" M 1 A '/ #
L 12 -
0N
5 !
o 11 §
10 .
9
8 r i
7 Il Il Il Il Il Il Il Il Il
2001 2002 2003 2004 2005 2006 2007 2008 2009 2010 2011

Year





